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cor_asym_us_avg (ppb) 1D pull distribution

X2 7 ndf 75.5/ 52

5000 |— - Mean  0.01471% 0.1639
- pO 606.7 + 131.8
- I StdDev  1.193 + 0.1159
4000 — L
E 10+ Underflow 0
3000 - I Overflow 0
— - X2/ ndf 3.636/7
8 —

Constant 8.594 + 1.677

Mean -0.3534 + 0.2601

Sigma 1.353 + 0.273
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cor_usr

1D pull distribution

0.0061+0.1717

Mean

1.25+0.1214

Std Dev

Underflow

Overflow

8519/7

X2/ ndf

7.455 + 1.779

Constant

0.166 = 0.260
1.431+ 0.365

Mean
Sigma

I

82.86 /52
+ 1.831e
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cor_usr RMS
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0.01998 + 0.1434
1.044 £ 0.1014
7.154/8

12.82 +2.45
-0.1388 £ 0.1194
0.7615 + 0.0932

Mean

Std Dev
Underflow
Overflow
X2/ ndf
Constant
Mean
Sigma

1D pull distribution

-07

4
2
0
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cor_asym_us_dd (ppb)

— X2 / ndf 65.59 /52
E_ pO —-2.799 + 134 .4
D
T l l* K ﬂ lTl I 1

1D pull distribution

Mean 0.0123 + 0.1528
I ] StdDev  1.112 + 0.108
12 Underflow 0
B Overflow 0
10+ X2/ ndf 15.65/7
- Constant 5.338 + 1.242
sl Mean 0.1601+ 0.6410
| Sigma 1.774 + 0.660
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ym_us_dd RMS (ppm)

cor_as
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